201. A%
=g/ SR 249 G NEEE/EAWE 5
(A #F oF 95 %)
s T A& 20102
(0 ~ 20) kg 50¢g 5 (E2, M1)/KIS-CS-MO1
(20 ~ 100) kg 10 g
(100 ~ 500) kg 2l g
(500 ~ 1 000) kg 0.20 kg
(1 000 ~ 2 000) kg 0.50 kg
712 A A A& 20109
(0~20) g 58 pg =5 (E2, M1)/KIS-CS-MO2
(20 ~ 200) g 0.18 mg
(200 ~ 500) g 0.25 mg
(500 ~ 5 000) g 2.5 mg
(5 ~ 30) kg 0.020 g
(30 ~ 200) kg 0.017 kg
(200 ~ 1 000) kg 0.088 kg
(1 000 ~ 2 000) kg 0.17 kg
2 2 F 20116
(1 mg ~ 200 g) (F25 ol3l) 5 (E2, M1)/KIS-CS-M03
1 mg 0.011 mg
2 mg 0.011 mg
5 mg 0.011 mg
10 mg 0.012 mg
20 mg 0.012 mg
50 mg 0.012 mg
100 mg 0.012 mg
200 mg 0.013 mg
500 mg 0.014 mg
lg 0.014 mg
2 g 0.017 mg
5¢g 0.019 mg
10 g 0.021 mg
20 g 0.027 mg
50 g 0.032 mg
100 g 0.052 mg
200 g 0.092 mg
(500 g ~ 20 kg) (M2 ©]8})
500 g 0.011 g
1 kg 0.011 g
2 kg 0.011 g
5 kg 0.11 g
10 kg 0.11 g
20 kg 0.11 g
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